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M15190 4.1 uaasteyanianhiufeunds

1 w.a.

Huft 2541 2542 | 2543 2544 2545
1.9 9.55 7.39 10.79 13.14 11.29
12 3.9 11.36 7.59 11.02 13.44 11.59
23 1.9, 11.51 7.79 11.22 13.44 11.39

28 1.9, 11.5 7.67 11.52 13.44 11.39
31 1.9, 11.7 7.67 11.52 13.44 11.69
6 NN 11.4 7.37 11.52 13.14 11.69
11 AW, 11.1 7.17 11.32 13.34 11.69
16 f.W. 10.8 7.17 11.52 13.34 11.99
21 .. 10.6 7.17 11.82 13.14 11.99
5.9 10.4 7.49 12.12 12.94 11.99
13 i1 10.2 7.69 12.82 13.24 12.29
18 3.0 9.9 7.89 12.57 13.04 12.29
25 3L.A 9.7 8.14 . 12.17 13.04 12.59
24 1318 9.8 8.76 11.12 14.54
20 1.9 9.65 8.39 12.02 14.54
27 WA 9.4 8.24 12.02 14.54

1.8 8.7 8.24 12.32 14.54
11 3.9 8.9 8.14 12.32 14.14
18 it 8.8 8.34 12.62 14.44
27 i.4 9 8.54 12.72 14.24
7 0.9 8.7 8.74 12.99 13.84
14 .9, 8.9 8.74 1299 | 14.14
15 9.9. 8.85 9.24 13.59 13.94




19 .81, 8.6 9.54 13.89 13.94
22 €. 8.35 9.54 13.89 13.94
29 219 8.19 9.54 13.89 13.94
3.0, 7.95 9.54 13.64 14.14
15 A4, 8.3 9.84 13.94
18 0.4, 8.5 10.14 14.24
22 8. 8.79 10.14 14.64 14.24
25 .. 8.99 10.44 14.64 13.94
209, 8.89 11.04 14.44 13.64
6 1.9, 8.69 10.54 14.44 13.19
14 8.9 8.45 10.34 14.74 13.19
16 A1.91. 8.29 10.19 14.74 13.19
20 A9, 8.09 9.89 15.04 12.99
27 A9, 7.99 10.09 15.04 12.99
17 W.0. 7.89 10.19 14.74 12.29
19 9.0, 7.75 10.39 14.74 12.29
24 N.0. 7.55 10.69 15.04 11.79
27 N.40. 7.45 10.69 15.04 11.79
3 5.9. 7.19 10.59 14.74 11.59
5 5.9 7.09 10.59 14.74 11.29
18 5.9, 7.04 10.59 13.64 10.99
22 5.9. 7.39 1079 | 13.44 11.29

é ) ) )
(MUY ; http/fwww.pttple.com/eil price/asp/cprbyyear.asp)
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M50 2.1 waasgueRvenhiiumz i

QUHRI C,
(DIPYAUTOR) (kJ/kg-K)
20 1.880
40 1.964
60 2.047

Heat Transfer A Basic Approach , M.Necati O ZI SIK , p.740 )
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M319N 1.1 uansguEndfvedas

_ AN ANUMUIUY
YHAUDINT )
kg/m-s {(kg/m’}
Anfunznin 0.01 900.0
BMIYen 0.01 790.0
Tadey lonson lug 0.01 2,100.0
AAEDS U 0.01 1,198.3
wAa eames 0.001 880.7

i
(NI - hitosivew. newuses org/EGEG- 15/badger.himl )
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